Assembly instructions for

RIEE: 32375924 Lighted Uphl QN HDBD 7592-140
" 32475926 Lighted Uphl KG HDBD 7592-143
PAGE 1 OF 5
Caution: Please read instructions thoroughly before unpacking assembly parts. Sharp, exposed
staple tips can cause injury, therefore, for your protection, please remove any exposed
staples used in packing.

1. We recommend that you should assemble this product with the assistance of another person; this will make assembly easier,
and will help to eliminate damage to the product or injury to persons during assembly.

2. Be sure to check all packing materials carefully for small parts that may have come loose inside the carton during shipment.

3. Please do not over tighten screws or bolts.

4. Please put all parts on a non-abrasive floor before assembly, and follow the assembly steps to assemble yournewly purchased
product correctly and efficiently.

A WARNING: To avoid serious personal injury:

e Carefully and strictly follow assembly instructions. Improper assembly of furniture can result in structural failure, instability
of the product, or tip-over.

o Monitor and carefully control the assembly components. These include small parts and hardware that may present a choking
hazard to small children. This furniture should be assembled only by responsible adults and children should not be involved in the
assembly process.

¢ Where provided, wall mounting hardware should always be used as prescribed in these instructions to anchor furniture to walls.
Proper use of the wall mounting hardware can significantly reduce the potential for furniture tip-over and crushing injuries.

} HARDWARE LIST ' NO.: PARTS LIST
NO.: (7592-140/ 143) QTY
1 | == |(L57x4MM)ALLEN KEY 1 piece

Headboard 1 piece

& Headboard legs .
B (Left) 1 piece

STEP 1

Bolts are pre-installed on bed posts:

Bolts: 5/16" x 18 x 2" L

Flat Washer: 5/16" x @19mm x 1.2mm T
Spring Washer: 5/16" x @13mm x 1.2mm T

Headboard legs
(Right)

1 piece

Headboard

Bottom Stretcher 1 piece

Bolts are pre-installed on HB bottom strecher
Bolts: 1/4" x 20 x 1-1/2" L

Flat Washer: 1/4"

Spring Washer:1/4"

Version #1 - 06/26/2025




Assembly instructions for

RIEE: 92375924 Lighted Uphl QN HDBD 7592-140
' 32475926 Lighted Uphl KG HDBD 7592-143

PAGE 2 OF 5

STEP 3

Bolts are pre-installed on bed posts

FCC instruction

CAUTION: Changes or modifications not expressly approved by the
party responsible for compliance could void the user's authority to
operate the equipment.

Note: This equipment has been tested and found to comply with the
limits for a Class B digital device, pursuant to part 15 of the FCC
Rules. These limits are designed to provide reasonable protection
against harmful interference in a residential installation. This
equipment generates, uses and can radiate radio frequency energy
and, if not installed and used in accordance with the instructions, may
cause harmful interference to radio communications. However, there
is no guarantee that interference will not occur in a particular
installation. If this equipment does cause harmful interference to radio
or television reception, which can be determined by turning the
equipment off and on, the user is encouraged to try to correct the
interference by one or more of the following measures:
- Reorient or relocate the receiving antenna.
- Increase the separation between the equipment and receiver.
@ - Connect the equipment into an outlet on a circuit different

from that to which the receiver is connected.
- Consult the dealer or an experienced radio/TV technician for help.

Customer Service

Supplier : EYUE Technology Co., Ltd

Tel : 1-800-990-9591

Email : info@eyuetech.com

Address : Responsible Party-U.S. Contact Information Furntron
800 N. Rainbow Blvd. Suite 211 Las Vegas, NV 89107 U.S.A.

Headboard
Version #1 - 06/26/2025 Assembly completed




Assembly instructions for

32375924/32475926 Lighted Uphl QN & KG HDBD 7592-140/ 143
RIEE: 32775922/32875924 QN & KG Panel FTBD 7592-141/ 144
32975926 QN & KG RSV Rails 7592-142
PAGE 3 OF 5

Caution: Please read instructions thoroughly before unpacking assembly parts. Sharp, exposed
staple tips can cause injury, therefore, for your protection, please remove any exposed
staples used in packing.

1. We recommend that you should assemble this product with the assistance of another person; this will make assembly easier,
and will help to eliminate damage to the product or injury to persons during assembly.

2. Be sure to check all packing materials carefully for small parts that may have come loose inside the carton during shipment.

3. Please do not over tighten screws or bolts.

4. Please put all parts on a non-abrasive floor before assembly, and follow the assembly steps to assemble yournewly purchased
product correctly and efficiently.

A WARNING: To avoid serious personal injury:

e Carefully and strictly follow assembly instructions. Improper assembly of furniture can result in structural failure, instability
of the product, or tip-over.

o Monitor and carefully control the assembly components. These include small parts and hardware that may present a choking
hazard to small children. This furniture should be assembled only by responsible adults and children should not be involved in the
assembly process.

¢ Where provided, wall mounting hardware should always be used as prescribed in these instructions to anchor furniture to walls.
Proper use of the wall mounting hardware can significantly reduce the potential for furniture tip-over and crushing injuries.

. HARDWARE LIST ! NO.: PARTS LIST
NO.: (7592-140/ 143) QTY
1 | == |(L57x4MM)ALLEN KEY 1piece || A W Headboard 1 piece
7 Headboard legs )
HARDWARE LIST , B / (Lof) 9 1 piece
NO.: (7592-141/ 144) QTY :
Headboard legs )
C . 1 piece
/ (Right)
D / Headboard 1 piece
Bottom Stretcher
A
E Footboard 1 piece
F / Side rail 2 pieces
G / Bed Slat 5 pieces
Long slat )
H % support leg 10 pleces
Short slat .
| Z4 support leg 10 pieces

Option 1: Low Mattress Position

Version #1 - 06/26/2025 Option 2: High Mattress Position




Assembly instructions for

32375924/32475926 Lighted Uphl QN & KG HDBD 7592-140/ 143
RIEE: 32775922/32875924 QN & KG Panel FTBD 7592-141/ 144
32975926 QN & KG RSV Rails 7592-142
PAGE 4 OF 5

The reversible siderails can be set up 2 options for mattress possition.
Option 1: The cleats support slat are at low position so that the mattress is at low position.
You will need just the long slat supports for this option.

Light switch

WARNING

Misuse can result in FIRE or
/ DEATH by ELECTRICAL SHOCK

\
\
|
|

Leveler

STEP 2

Option 2: The cleats support slat are high position so that the mattress is at high position. You will need both long &
short slat supports for this option. The long & short supports are connected together before connect to the bed slats.

Misuse can result in FIRE or

STE P 1 .‘ “ T =" DEATH by ELECTRICAL SHOCK

Leveler

Version #1 - 06/26/2025 Assembly completed STEP 2




32375924/32475926
RIEE: 32775922/32875924

32975926

Assembly instructions for

Lighted Uphl QN & KG HDBD 7592-140/ 143
QN & KG Panel FTBD
QN & KG RSV Rails

7592-141/ 144
7592-142
PAGE 5 OF 5

Version #1 - 06/26/2025

/N WARNING

Misuse can result in FIRE or DEATH by ELECTRICAL SHOCK

[ELECTRICALRATING (12V/2A/24Watts)]
[Eyue Technology Co., Ltd]
[FX24U-120200C]

Read all instructions before using this furnishing.
DANGER - To reduce the risk of electric shock:

1.Always unplug this furnishing from the electrical outlet before cleaning or
servicing.

WARNING - To reduce the risk of burns, fire, electric shock, or injury to persons:

1. Unplug from outlet before putting on or taking off parts.

2. Never operate this furnishing if it has a damaged electrical cord or
plug, if it is not working properly, or if the electrical cord or plug has been
damaged or dropped into water. Stop using this furnishing and call a
service center for examination and repair.

3. Keep the electrical cord and plug away from heated surfaces and other
heat sources.

4. To disconnect, turn all controls to the off position, then remove plug
from outlet.

5. When operating, ensure that electrical cord is not under the base, legs,
or motion mechanism to avoid damage to electrical cord or plug.

6. Do not strain or stretch electrical cord.

7. Do not use extension cords or power strips.

8. Keep out of reach of children. This is not a toy.
9. Plug directly into a compatible electrical socket.

10. Do not modify the plug or use any adapters.

/N WARNING

El mal uso puede provocar INCENDIO o MUERTE por DESCARGA ELECTRICA

[CLASIFICACION ELECTTRICA ((12V/2A/24Watts)]
[Eyue Technology Co., Ltd]
[FX24U-120200C]

Leer todas las instrucciones antes de usar este mobiliario.
PELIGRO - Para reducir el riesgo de descarga electrica:

1.Siempre desenchufe este accesorio de la toma de corriente eléctrica antes de limpiarlo o
repararlo.
ADVERTENCIA: para reducir el riesgo de quemaduras, incendios, descargas

eléctricas o lesiones a personas:
1. Desenchufe del tomacorriente antes de colocar o quitar partes.

2. Nunca opere este accesorio si tiene un cable o enchufe eléctrico dafiado,
si no funciona correctamente, o si el cable o el enchufe eléctrico se ha
danado o se ha caido al agua. Deje de usar este equipamiento y llame a un
centro de servicio para que lo examinen y lo reparen.

3. Mantenga el cable ele'ctrico el enchufe lejoi de superficies calientes y
otras fuentes de calor.

4. Para desconectar, gire todos los controles a la posicion de apagado, luego
retire el enchufe del tomacorriente.

5. Al operar, asegurese de que el cable eléctrico no esté debajo de la base,
las patas o el mecanismo de movimiento para evitar dafar el cable eléctrico
o el enchufe.

6. No fuerce ni estire el cable eléctrico.

7. No utilizar cables de extension o tomas de corriente.

8. Mantener fuera del alcance de los nifios. Esto no es un juguete.

9. Enchufelo directamente a una toma de corriente compatible.

10. No modifique el enchufe ni utilice adaptadores.




	32375924, 32475926, 32775922, 32875924, 32975926 RIEE 7592-140,141,142,143,144 Assembly instruction for QN,KG Bed1
	32375924, 32475926, 32775922, 32875924, 32975926 RIEE 7592-140,141,142,143,144 Assembly instruction for QN,KG Bed2
	32375924, 32475926, 32775922, 32875924, 32975926 RIEE 7592-140,141,142,143,144 Assembly instruction for QN,KG Bed3
	32375924, 32475926, 32775922, 32875924, 32975926 RIEE 7592-140,141,142,143,144 Assembly instruction for QN,KG Bed4
	32375924, 32475926, 32775922, 32875924, 32975926 RIEE 7592-140,141,142,143,144 Assembly instruction for QN,KG Bed5

